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Grade Level/Course:  Grade 2, Grade 3, and Grade 4 
 

Lesson/Unit Plan Name:  Subtracting Multiple Ways, With or Without Regrouping 
 

Rationale/Lesson Abstract:  Teachers and students often know multiple ways to subtract.  
However, the connections between the different methods used to subtract are often not made 
or misunderstood.  The focus of the lesson will be on making connections between subtracting 
by regrouping using base 10 blocks, decomposition, and the traditional algorithm.  A secondary 
focus will be how to subtract without regrouping using decomposition and open number lines.  
Finally, this lesson will show how to use bar models to visually show subtraction and to relate it 
to addition. 
 

Timeframe:  
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BAR MODELS:  RELATING ADDITION AND SUBTRACTION 
 

Example 5: Show 227 185  using a Bar Model  and create as many equations as you can that fit this 
model: 

227 

185 ? 
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3(a)12(n)3e

f*m.16 0.

f*

463.39 659.02 0.48001 0.48 re
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4699e 
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Example 6:  Find the difference with regrouping using Base 10 Blocks, Decomposition, and the 

Traditional Algorithm:      227 185   

Base 10 Blocks 
 

Decomposition 
 

  200+ 20 7

100 80 5



  
  

Traditional Algorithm 
 

  227

185
  

Starting from the ones place, can we take five from seven?  Yes, it is 2 .   
Base 10 Blocks 

 
Decomposition 

 

  200+ 20 7

100 80 5

                   2



     

Traditional Algorithm 
 

  227

185

      2

   

Moving to the tens place, can we take eight tens from 2 tens?  The correct answer is YES, it is 6 tens 

or 60  .  However, let the students know that for now we are only working with positives so we need to 
somehow get more tens.  We do this by taking one of our hundreds and “regrouping” it to the tens 
place as ten tens. 

Base 10 Blocks 
 

Decomposition 
 

                    

  200+ 20 7

100 80 5

                   2



     

          

           

 100 100 20 7

 100          80 5

                               2

   

     

 

         

  100 100 20 7

 100          80 5

                                 2

   

    

 

                      

 100 120 7

 100 80 5

                       2

  

    

Traditional Algorithm 
 

  227

185

      2

   

                      1  

  227

185

      2

  
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You Try 6:  
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SUBTRACTING WITHOUT REGROUPING 
 

Example 7
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Assessment: 
Name: __________________________ 

EXIT TICKET ʹ Subtracting 2-digit Numbers 

1.  Show 36 17  using a Bar Model and create as many equations as you can that fit this model: 
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Assessment: 
Name: __________________________ 

EXIT TICKET ʹ Subtracting 3-digit Numbers 

1.  Show 226 147  using a Bar Model and create as many equations as you can that fit this model: 
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                            Warm-Up 

 

Review Review 

Find the difference of 400 162  using 

decomposition (without regrouping) and a 

number line.  

 

 

 

 

 

 

 

Find the difference of 385 162  using 

base 10 blocks, decomposition, and the 

traditional algorithm. 

 

 

 

 

 

  

 

 

SBAC Grade 4.NBT.4 

Place one number into each box to     

complete 


